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knitr::kable(head(iris), format = "pandoc”, caption=" 11O OO0 (1-6 [)7)

Sepal.Length  Sepal. Width  Petal.Length Petal. Width  Species

5.1 3.5 14 0.2 setosa
4.9 3.0 1.4 0.2 setosa
4.7 3.2 1.3 0.2 setosa
4.6 3.1 1.5 0.2 setosa
5.0 3.6 14 0.2 setosa
5.4 3.9 1.7 0.4 setosa

Table 1: OOOOOOO (1-6 O)
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knitr::kable(cor(iris|, -5]), format = "pandoc”, caption=" ]I CI17)

Sepal.Length  Sepal. Width  Petal.Length Petal. Width

Sepal.Length 1.0000 -0.1176 0.8718 0.8179
Sepal. Width -0.1176 1.0000 -0.4284 -0.3661
Petal.Length 0.8718 -0.4284 1.0000 0.9629
Petal. Width 0.8179 -0.3661 0.9629 1.0000

Table 2: OOOOOO
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par(mar=c(2.5, 2.5, 1.5, 1))
hist(scale(iris[, 1]), probability = TRUE, ylim=c¢(0, 0.5), main = NULL)

curve(dnorm(x), add=TRUE)
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Figure 1: OOOOOO
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Enjoy!!
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